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1. Introduction
In the last meeting interfering signal ACLR requirements for the ACS and NB tests were discussed [1] and a TP was tentatively approved [2]. However, the ACLR figures were delibaretly left in [], as no analaysis of the corresponding effective eNB ACS requirements was presented and companies asked for time to check the numbers.

This contribution contains analysis and TP for interfering signal ACLR requirement. Even though Table 4.1.2-2 of TS36.141 is currently assuming 0.4dB impact due to TE ACLR, the following analysis here was carried out for an impact of 0.27 dB (corresponding to -12 dB share of TE ACLR). Appropriate assumption is up for discussion.
2. Discussion

For the Adjacent Channel Selectivity test 63 dB ACLR requirement are currently proposed in TS36.141 and the following analysis shows that an ACLR of 58 dB would already provide < 0.27 dB additional impact from the TE:
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However, for the narrow-band blocking case and assuming that the TE ACLR shall be at least 12 dB below the eNB ACS, we see that for the 1.4 MHz case at least 67 dB ACLR are required, while for the remaining cases the currently proposed 63 dB are sufficient. 
Note that by allowing even 0.4 dB impact, the 63 dB ACLR will not be sufficient for the 1.4 MHz case.
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Hence we propose to change the ACLR to 67 dB for 1.4 MHz E-UTRA.
3. Conclusion

It is proposed that RAN4 agree upon the TP in Annex A.
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Annex A: Proposed changes to TS36.141
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7.5
Adjacent Channel Selectivity (ACS) and narrow-band blocking

7.5.1
Definition and applicability

Adjacent channel selectivity (ACS) is a measure of the receiver’s ability to receive a wanted signal at its assigned channel frequency in the presence of an adjacent channel signal with a specified centre frequency offset of the interfering signal to the band edge of a victim system. 
The interfering signal shall be an E-UTRA signal as specified in Annex C.

7.5.2
Minimum Requirement

The minimum requirement is in TS 36.104 [2] subclause 7.5.

7.5.3
Test purpose

The test purpose is to verify the ability of the BS receiver filter to suppress interfering signals in the channels adjacent to the wanted channel.

7.5.4
Method of test

7.5.4.1
Initial conditions

Test environment: 


normal; see subclause D.2.

RF channels to be tested: 
B, M and T; see subclause 4.7.

1)
Set-up the measurement system according to Figure K.2-4.

7.5.4.2
Procedure for Adjacent Channel Selectivity

1)
Generate the wanted signal and adjust the input level to the base station under test to the level specified in Table 7.5-3.
2)
Set-up the interfering signal at the adjacent channel frequency and adjust the interfering signal level at the base station input to the level defined in Table 7.5-3. Note that the interfering signal shall have an ACLR of at least 63 dB in order to eliminate the impact of interfering signal adjacent channel leakage power on the ACS measurement.  
3)
Measure the throughput according to Annex E.
[4)
Repeat the test for the port, which was terminated.]
7.5.4.3
Procedure for narrow-band blocking

1)
Generate the wanted signal and adjust the input level to the base station under test to the level specified in Table 7.5-1.
2)
Adjust the interfering signal level at the base station input to the level defined in Table 7.5-1. Set-up and sweep the interfering RB centre frequency offset to the channel edge of the wanted signal according to Table 7.5-2.  Note that the interfering signal shall have an ACLR of at least 63 dB for E-UTRA channel bandwidths above 1.4 MHz and of at least 67 dB for 1.4 MHz E-UTRA channel bandwidth in order to eliminate the impact of interfering signal adjacent channel leakage power on the narrow-band blocking measurement.  
3)
Measure the throughput according to Annex E.
4)
Repeat the test for the port, which was terminated.
--- End of Section ----
